Chapter 20 Problem II (+1)




Name _____________________

10. Calculate [H+] for each solution.

a) pH = 5.00

b) pH = 7.00

c) pH = 6.00

d) pH = 3.00

11. What are the hydrogen-ion concentrations for the following solutions?

a) pH = 4.00

b) pH = 11.00

c) pH = 8.00

12. Calculate the pH of each solution:

a) [H+] = 5.0 x 10-6 M

b) [H+] = 8.3 x 10-10 M

c) [H+] = 2.7 x 10-7 M

13. Calculate the pH of each solution:

a) [OH-] = 4.3 x 10-5 M

b) [OH-] = 2.0 x 10-5 M

c) [OH-] = 4.5 x 10-11 M

14. What is the molarity of [H+] in each solution?

a) pH = 7.30

b) pH = 1.80

c) pH = 7.05 

d) pH = 6.70

15. Calculate the value of [OH-] in each solution in Practice Problem 14.

a)

b)

c)

d)

16. What is true about the relative concentrations of hydrogen ions and hydroxide ions in each kind of solutions?

a) basic

b) acidic

c) neutral

